
�	���������	
���
������������
�
�����	��
����
���	���������
��

�
�����������	-��-%��%�����0�������	��-������$���
����899G������������������1��C����
��	-����	
��
����������
	�����#��	
�-%���6���������
�������������������������������	����	
��
����-���A���%������	��	
�-���������-		������	���������-	����%2������
	��������	���C����
%#�
	-�

�	������������������	��������1����-��������	���	�	�����-���	��
��������-�����	��

����-
�� F'H)�	
������	��������	��	
�����"����	��	
�$���
�899G���	��������1���-

����0	�6�
	����-�����
�����	�#�����������������#�;������

�1������-���
�����	���1�
��%�	
����
&������	����������-	�����	��������1
���	�������,	%�����	
�����
������	
����	-��-%����	���
0����������-�����	��	
�������	�
����������	������-��	
�����-	����%�����1%�0�%�	

��-�����
�����	��Q2�:	0����#�����0��6���������	
������	��������	���������	�����	��	
���
�

�-�������
������-�����
	��
	-�
��	���������������-
���3-����-�����
	����-�����
�����	���+����
����	����-�
�-���	����	���������������������
	�������������	
�
	-�
��	������������������	��
�����������	
�������	
�������	�
���������#��
��	�������������1
���	���������-	�����������

	��;����0�������	���1
�������-�����	��	
�����$���
������	�
����������

�����	
�����&�����2

,���0
��
���
�1#
���������)��
+�����
	-�
��	����������-��#���A�#�����?����899 #���������-���
��%��-��899 ��������

�����899 �0�������-�����	����
������-	��������	��
�����-�������+�����������	0�1���
�����
���1%�������-���
%����-����.	-�
�&�

3�	������-���-��899<�'.&��)��+���.&��
��	������
	���0	3�����
	-�
��	���������1	����#�	�����������������		���
���
���������	�����������
������-��
���
#������1%�
�%��������
	������	��
	�������-����	�%����	-��-%�����
	-�
�����
	�����
���$���
����	������-�����
�����	���������	
������	0����	�
	-�

%��
�-����1	������+�������
����	
���-�����
�����	�#����0�������#�0����	����	
�������
	-�
���	�
���	����������������������
��������
	��������	-���������	��������������
	������'������������899F)�����
����0�������
?���#�����-���
��%��-�#���������#�����.&����
�	�����1
������
	-�
��	���������1	����
���	���	�������-	����%��	����������������1����	
����	-��-%���������������		���
���
���������
	�����	0�����������	���1�
��%��	�������	�
���	����%�-�����������������

���������	�����	��
��
�����-�����	��

��	������%�	�����������#����������1
���	�����.&��������
���������������������	���6�
��	����	���-	���-�����	�������,	%�����	
�����
������	
����	-��-%����	�����������	��
�����-�����	��	
������	����������	�
�����������	-����	
��	������-��1%�0�%�	
���-�����
�����	��
+��������1
��
�����������������������.&���������	#

J���������	��
����������	-����	
�����
	������1%������-�������������-�����	��	

�

�������	�
����-
�����������-�-	���������#��������	��#������	0�3��	�������	�
�

�����
�
�
���	
��	�����	�����


��	�������
��	
����
���
��



����������
�
�����	�����������������	��
	��
��	��
����� ��

���0�

�����	-��

%������-	�	��-�

%�1�-60������	�������1���������1	����	-��

�C��
��%�����	1�
�����������

	-������������
	����������
	������	
�������	0������	�
�����������1�
��-��������C��
�������1���	��	
�����
������	
�����
	������22

2�

��������

$ �����
  �����
+�����

��������
	������-	��������'?��)��������
	0���������	
�
	-�
��	������������

��������$���
������98 �?�����=���������.&��#�:��$�������	0������	������-������

���
����
	������������
�	����%�����
�;�
�6�2�	
�����"����	��	
�$���
�1%����-�
%��������1	�����%�
+����	������������
����������	0������	����������-����

��������
	��������������	�9�0����#���

�������	���1
��0�����C��
��	��
���	�����
�-������������1�������������������	
���%���

����	�
0��������#�:��$���%����������-	��������	
���
���������������	���6��-��������������1	�����%
	��������-	��������	��	
�����-	������������0������������	��
�	
�����(
�-��	���	������	��

+�����

����-	��-�
�'?�)#�-	���������	
�F�����1���#��������������
�1	�%�	
�����

���
����
	������������+���?��#��������-������1	�%�	
�����?�#�����������������1���#���-
�����
����
�-����-��������	�#���-�3-��������	��#������0����-��������	���'	���
�	����-��0���)#����
�0	����1�����	��������
�	������?�#���-
������	���0	�����?������1���2������������	

����%������+���?������������	�	�	���1	�%�0������������
���--����	�����������
�	
�����	0�����
��%#�
�6��������������
#��-C�����
�����	��

	���������������������	����

�����#�����-�������	����
1	�����	��1�����������

�

?�����������#����������	����1%�����?���-��������	��	��������-�3-��������	��������
-��������	�2���1���-�#������1����
��	�-�����	�����?�����-���	�������1�����	������,	���%
�	����+���0����-	�����������������
������0�-�����	���#�����������������������	����1%����
0����-��������	�#�����������-���	����
�	�1�����	������,	���%��	����+���?���	���

%������
�0�-����%���#��������������1�����-	�������1%�����?���-��������	��

&�-��	�� E�	
�����.&������	0������?����	�
	������������	���������1��������	�%
-	��������0����������������	��
�	���	-��
�0	�6���#�����

�-���
�#���������	���0������-���-�

6�	0
������	������������?����������0	�6����	��-�

%#�����	����	�������	������1�-6��	����	
����
��	�
��0�	�������1����
�-����
	������-	������������

���������1�����	
�-����������-��-�#����-��
1����
�����������0	������������������������	
�7=�������$������������
��������	���%�

+����	0��������
��-��	���	
�?��������������.&������������������	�88�1�	��������I
����-�
����P�����
�����6����0����P�0	�6������������	��P����-���	��������	���P���������	�#��	�

��	��	�#�����������-	���	
P���%��-�
�����
	�����P����
��������-��P�
	��������������	�����P

������������-�
����P��	����������-	����������������P��������-�

���	����+����	0�������

��-��	���������������1��-�	
�;
	��������������	�����2���C������������	0���?�����	�
���-�
�

	�������	��	��
�

	0�
����#���

�#��
	���#�������1
�-�
���P������	����������������
�����
��	��������0������������	�
	�����#���������	�#�1�	��������%#��	�
�-	��������	�#������	�	��������
��

��������
	������������+��%������
�	���C�������	�
	���
�����������
����������	��
��	��������
	�������	������
�-	��������	�#�0��������?�����������1�����	1
������	�����
���	���%��	���	,�-����������
����	��-�����������	������

�--	�������	�����.&��#�?����������C�������	�-	�����-���������
��������

����
���

��	,�-������	���������-	���������'=��)���
�����=����C��������%���������#���-����������������1�
��	������'&�-��	��H9)��=������������
����	�-	

�-�������-��-�������
�	��������0�	��������
�����-���	
�����	,�-���+�����0�
����
���	������������������������	����	��	
�=��#�0�	����
����	���1
��
	�����
���������������������������	,�-�������-�������������	������
��0��������
$�������
���#�������0
%����-����.&��������	��-
���
%����-�
��������������#������������
��-��	��
	
���-��=��#��	����������
���	���	�����
	-�
��	���������1	�����



�	���������	
���
������������
�
�����	��
����
���	���������
��

&�-��	��F<'�)�����'�)�	
�����.&���899<���	����������?���0���������������	���

������
���1��#�
��
0		�#��0���#�1���-���#�����1������
�	������?�������#����0�

���������#�����0����
�	�	���	������������-	����&�-��	��!<�8'-)�����'�)������
���������������	����%�	
�����?��
��-
�����
	��������������1%�����������
����
�0������:��$#���������������
����������	
����
?��#������-����
%��+������0	�&�-��	���������-	���������0������-��	����#������-�
��
%�&�-��	�
!<'�)#�0��-����-
�����������
�������������������	����%�	
�����?����$�����
���������������
����
	��������������-	�����
	����#�������#�0��
����������	�	�����������-
�����
�-	������%�
	������0	�
�
�
�	�1��-	������������?�����	����%#��������
����
���	�����������	����
%�'1%����
�-��
%
�����
���������������?�������
�

��������	��������
	�������������1%�����������
����
	�����
�0�����
:��$)�

&���
��
%#�����
����
���	����	���������	
��
	��$�����	������-����1
�-������-�����	�����
���������
��6��1��0��������
	-�
��	���������1	�������������
	�������-����������+���?�����
	1
������	���-	������$�����	�������
%#�
	���
���#������-�#����
����#����������������

���
����
	��������	,�-��������-��?��������'&�-��	��F8L8M)��$����������C�������	����
���������
��	,�-������-		�������	��0��������?����:	0����#�����������#�������#�����
��-��	���	
�$�������
�	����
�����

*�
��<9�	
�����?�

��������
	�������	��������'>	�6���������������)�*���
���	��#
899H���C����������?����	�����������
����	
����������	���	�-	�������������=�� ��+���?�����
��C�������	�-	�����������=����������-��������	����
�-����1%������������+���?������1���	

����0����������	0������	��������=����������������������������+���=�������	�����������
-���
�	
�������
������������-��
���
�	

�-��	����������������������	�=������������*�
��9G'8)
��C����������=���	I

� ���
������������	,�-������������	�������������#
� ��6���������������
	������	������	���������������-��	
�������	,�-�#
� �	1�
������1
�-������-�����	������
�1	�����C������
	��-	��
���	��	
�������	,�-�#
� ����������--	������-	����������
	��������#
� 
	

	0���������-�������������1%�����?��������
���	���	�������	,�-�#����
� -	�������������������	
�����=�����
�����	�-������%��	����

=�����*�
��9G' )#�=�������
��1
��
	�����������������������	�������
����
�0���
����%��	
�	��
�

�
�������	1
�����	���	���
����%��������	�������
������*�
���<9�����9G�	
�����������-�
����
	�������	��������'>	�6���������������)�*���
���	���899H�-	���������-�
%���������
��	����	���

�������������

$ �����
  �����
+���������-������
	������-	��������'���)�����
�	�������	�	�	���1	�%�0������������


��--����	�����������
�	
�����	0��������������
����	��-C������	��1
��	�����	��1
����	����%#����
����	����

����
�6��������������
�����-���1�������������%�����	�������+���������-��-	��-�
�'��)���
����������
�1	�%�	
�����������--	�������	�����.&��#��������-	�������	
��

�����-��������	��
������-�3-��������	���	
���-��?���0����������������-�#��

�������%	������������%���%	���	

��-������-���
��%�0����������������-�#����1����	
��������#����1����	
�����:	����	

*�����������������������$���	��
������1
%�
�	������������-�#�������������	����	��������1%����
�������

��+��������
��-��	���	
������������������.&�����-
��������	���������1�����#��
��#
������	����������1�������1%��������#�����	�������	�	��
����
�������	������#�
���#�����

�#

� ��������	
������
����������������	������	��	�����������	�����������������	��������������������
�����������	���	��
�������������������������
������



����������
�
�����	�����������������	��
	��
��	��
����� ��


	����	��1	��	0����#������������
����	��-�����1�������1%��������#�������	����������
��-�����%�����-������0���������-���	�������-��
���
���	,�-���1��������
��������1%���������

�����	0��������
��-��	�������-
������������8E���������#�������-
��������-�
����P
����
	������	
�����
�����6����0�������������
������P�
	��������������	�����P���������	�#��	�

��	��	�#�����������-	���	
P�
������������-�
����P��������
��������-��������	�������=��������

	��������������	�������������#��������������C�������	�����
	�����
���
	������-	��������	��	


	�����#���������	�#�1�	
	��-�
���������%#������	�
#������	����
���������	��-���������	�1�
���
�������#����0�

������	�	���-	��������	��	
����������	������

&�-��	��89G�	
�����.&������	0����������	�-	�����������

��������13-	����������	
����������������������
��-��	����&�-����13-	�����������%������������������	�����0��
�	�
����	�����-�	��#���-
������0	��������1�-60����-
�������*�
��<H�	
���������'>	�6���
�����������)�*���
���	���899H���C���������������	�-	���������
	�����

������-	��������I
����-�
����#��������%#�
	����#��������������	������

����--	����-��0����&�-��	�� G �	
�����.&��#�������������
�-����	�����	,�-���0��-��-��
-	����1�����	�������	��-��	��	
����������	����������0��-������������������������-�����	��	

����
	-�
���	�
������
�1	���
	�-���>��
��
���������	�������
	������������-������
	�������
��#�
����
������-	������	���%������1���������	���	�����������������������������������-�
����
���	��-��	�
���0�

������	���������������
���	���	��-�����������	�������>��
��
	���
����������������-�
����
	�������
��#������������	1
������	�
	

	0��������-����	�%��
���������	-�������������C�����
�	�-	���������=���
�	������������-��1���
�-�������0��
�����
�����������	,�-�������������������-�
����
	�������
����=�������$����������C�������	����
��������-����	,�-������-		�������	�
0�������������:	0����#��������	��-
����0�����������=�����-
����7=�����
��	����=������
$����������������
%���
�������	��������.&��#�����
����
���	���	����	����	���������
�����	��
+����
�-6�	
�-
����%#�0���������
�1������	�����������	��
#���

�-�����0��6�
�03��6������	-���
����
������	���1�������������-	�

�-���

��"��&������������������������=��#�	�-���������������������%�	
����	
���	�����
-	������%������-�����	�#�����
	�����	�
%�	�������#��	����	�
�

�
�������C����������	
�������
��
������	������������������
	-�
�����
	����������������������������������=���0�����
-	��������������������-����������������	��1��
����#�������������������	�����������
	���������

	����������	�������������	��
�����	���:	0����#����������	���	�
�-6�	
�����	���
�	�����
�	���������1�����-��-%#��	�31���
�-�������������-
������������=����	���	�����1���
�����	
�	
���-�
�0	�6����	
�
	-�
��	
���-�
�������������
	-�
�
�������'&��������899!)�

&�-��	�� 8F�' )�	
������-�����	0�������������	�
��%�������	��0		
#������#����1�#��
���#
��������P�	�������
���	��-�����-�����1	��#��	��#�
�������#�����
������P�'��-������	��
��	��1�����1%�������
����
�0)P�����	��	������		����������-��1�������������������	����1%����
������-��-	��-�
#��	����-�������������������-�
�����������������-������
	������������&�-��	�� 8<
���	0�������������	���

����������������������������-���
�#����0�

����1	�
����#���	���#��	�
#
�������
�0		��
	����������������

+���:����.���
���-�����
�����	���		�������	���	��������':.���)����	��������
��
;��-�����
�����	������.	-�
�&�

3�	������-�2�'�.&�)���-	����������������-	������-�	�%
��	����	���	
�����7	������-����������$���
��������-����
�������	�
	-�
��	�����������-	��
�--������
�	��������
����	��-������������	��-�

%�-����������������	��������+������	��#
�����
	��#���-	�������������
������	�����	����	���	
�����7	������-����������$���
��������-�
0��-��������-	���������0���������	1�
�����	��	
����	��-���
�	�����
�0		�#������#���	��#����
�����0���������������	
�
	-�
��	���������':.����899!)�



�	���������	
���
������������
�
�����	��
����
���	���������
��

��-�����
�����	��0�

�1�������	-�����
���
������
	��0��-���	
���	��������
������
�����������	�����������-����
�-6�	
���
	�����	��������	
����	��
������-�������
���	�������0���
�	
���-������������-����������--���	�����	�1��������-	���	
#�����1��������
	���������������
;-���A��2�-	��������������	�������
�����0�

�������
�	����
�-6�	
�-
����%���������������
��-��	��

1	���������1��0���������	
���	
����
�����������������������-��
���
��	
���-������.	-�
��	
���-����
0�

�0�������
��������������	�;���%�	��2�	
�
	-�
��	
���-�������	�
	-��������������%�	��
����
���	�#
�	
�-%#�����"���������'&��������899!)�

)��������
��2����,
3������"#�
�	������%�
	�����%�����	�����--���
�
�0��������?�������7=���0	�6��	�������0���

-	�
����-����������		��
�����(�������1�
���������#�0�����	�����-����	��#�?������1���
������

%�
��
����%�-���-		�������0����
	������������	�����?�������������������6�	0�����
-	������%�
	��������-	��	����	����%����������7=����-	�����������
	��-	������%
����
	��������	��	���#�?������1���������
�	����1��������������	
�-	������%�
	�����
������
�����*�-	���������������	����-��	
�-		�������	��1��0��������?�������7=��#����
�	7������
������	��������	�N�����������	���������	����-��?������1�����	����1	��
-	������%�
	�����%��&	���?����������
����%���������-		���������0����7=����7	�������
�#
	���?��������
���������-����	���������������������	0��-	����	���	��-����-	������%�
	�����

&	���?���#��	0����#����0�7=���������������	���������������
	���������	�
���	��1�
��	�	�����&�-��?������1����1�
���������������������?������	�
���������-	������%

	������	�����������7=�����	�
��1������������-	���	
�	
�?�����+������	1
�����	�
��1�
���	
�����		��1%�-
	���-	���
����	��1��0�������1����	
�����7�������	��	
��	������%�7	����
=�����	
�$���
��������1����	
�����7�������	��	
�?����

=��	�1���
%�����?����������
�-����1	�%�0������
�����������������������7=����+��
?�������������-
���������	����

�����
	������	
���������#�1��������0	����������	���1	���0	�6
�	�1���
���
	-�
���	�
����
�
��6�����������-��������
	��-		�������	��1��0��������?������
7=�����������
	���#����������������	���0	�
��-	��
��������-��	�����0�

��=�
������-�
-		������	������
	��#�����A��1
���������
�6�
%��	�����
	��1��0����������������������
��������1
������	
�������
����	��-������0�

����0������������	�����
	�������-���������������
?���
���
��+����-	�
����0������������-��
��������	
�-����	
���-�����
�����	������
	-�

���	�	�%#�0��-����-
��������-������

	�����	�-��������-���
��	-���%�1�����	�������	-����-
��	-���#�	������������-%#�	���--	����1�
��%��	�������	�
�#�������	�
�2�������-�����	��������
��	-����	
��
�������0	�6�
	������
	-�
�����	������#����0�

��������
	���������

�-����
��-�������
	����6����
	-�
�����	�����������	���1�
���	0�����������	�
���������������#�0�����
���0��	�����
	�����
	-�
�
����������


